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(adapted from Big Ideas Math, 2014)

The movie theater is located at (1, 7) on the
 coordinate grid below.
Part A: To get from your house to the movie theater, you walk 4 blocks east and 5 blocks north. What ordered pair corresponds to the location of your house?
Draw your route on the coordinate graph.
Part B: Your friend’s house is along your route to the movie theater. After walking 6 blocks along your route, you arrive at your friend’s house. What ordered pair corresponds to the location of your friend’s house?
From there, how far do you and your friend walk to get to the movie theater?
Part C: There are two ice cream parlors, one located at (0 , 6) and another located at (-1 , 5). After a movie and ice cream, you will each walk home alone. Which location is best for both you and your friend?
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